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K83 Mg | GEEan) | ERBD) | (TfERD) | (TERBD) | (MPa) (kg)
1W 80 - — — — 60 4.0
2w 133 53 = — - 113 6.8
WSK41 3w Rc3/8 Rc3/8 Rc3/8 Rc3/8 31.5 186 53 106 — — 166 9.3
4w 239 53 106 159 = 219 12.0
5W 292 53 106 159 212 272 14.7

@ ShEgEE: 03RFI(10EE)

K55 EST] MR
WSK42 | hBgER N

L
10 Le 10 2-MEFBIZETFL
+ + + Q&Z&_\# ! $A+
’’’’’’’’’’’’’ BN T
-+ + + 4 B4 ‘& B. vt
l4s] |o
L1
L2
L3
L4 28
& T T % % E
2 el T T A A N8 | e S
o510 + + + "% g S|
25| L_,L1 125
|.46_| Lo |_46_|
L3
Le 494 JEJr
MEtTE: B0
ES . ] & E i) L L1 L2 L3 L4 Le ER
K83 Mg | (EBEHO) | ERMRO) | (TERD) | (TERED) | (MPa) (kg)
1W 102 — — — — 82 6.8
2W 177 75 — — — 157 11.8
WSK42 3W Rc1/2 Rc1/2 Rc1/2 Rc1/2 31.5 252 75 150 — — 232 16.7
4w 327 75 150 225 = 307 21.7
5W 402 75 150 225 300 382 26.7
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